Les mesures : équivalences

FAUX
1€=100c 1km=100m | 1kg=1000g
1m=100cm [1cm=100mm | 1m=10mm
1kg=100g 1cm =10 mm 1€=10c
1km=1000m | 1m=100mm | 10cm=1dm :_;

Pour veérifier tes réponses, utilise la grille de correction @



Les mesures : équivalences e

VRAI FAUX

200c=2¢€ 30mm=3cm 20cm =2 dm

100mm=10cm| 50€=500c |2m=2000cm

1cm10mm=2cm| 150c=1€50c 250c=25¢€

250cm=2m50cm| 20mm=1cm | 3000 m =3 km

www.lutinbazar.fr

Pour veérifier tes réponses, utilise la grille de correction @



Les mesures : équivalences

1 100 1000
10 mm 100 cm 1L 10 cm
Zm ..=m ...=cL :nm
1 kg 1cm 1clL 1 km
=g r=nm . ?nL ..=m
1dm 1t 10 cm 1m
Zm .=kg ZIm :nm
1m 100 cL 100 mm 10 cL ;

Pour veérifier tes réponses, utilise la grille de correction @



Les mesures : équivalences

75 705 750 7 005 -
7kg50¢g 5m7km |7cm5mm 5cL7L
=g ..=m . r=nm ...=cL
/m5cm | 50cm7m | 7L5mL 5mL7clL
Zm Zm ..:nL ..:nL
7 L50cL 7€5¢cC 7 km 50 m 7ke5g
...=cL ..=c ..=m =g
70cm5mm| 50c7€ 5mm7m 7dm50mm§

Pour veérifier tes réponses, utilise la grille de correction @



